
A-1 A-2

• DÖNER AYAKKABILIK MONTAJ ŞEMASI
• TURNING SHOE RACK MOUNTING INSTRUCTIONS

staraxaccessories starax staraxofficial www.starax.com.trstarax

D-2A-4 B-2

30

60

180

300

D-1C-1B-1

A-3

64

42

182

382 382

322

382 382

3,5x16
6 ad./pcs.

3,5x16
6 ad./pcs. 2 ad./pcs.

M5x12
2 ad./pcs.

M5x30
4 ad./pcs.

2 ad./pcs.

M5x12
2 ad./pcs.

M4x8
4 ad./pcs.

M5x22
4 ad./pcs.



staraxaccessories starax staraxofficial www.starax.com.tr

E-1 E-2 E-3 E-4

F-1

starax

NO
PARÇA RESMİ/

PART DRAWING

1

2

3

4

5

6

7

8

9

W x D x H (mm)Kod / Code C (mm)

800

Basket

700 x 360 x (790-990)S-6831-

S-6832-

S-6833-

S-6834-

S-6835-

4

6

8

10

12

700 x 360 x (1070-1270)

700 x 360 x (1350-1550)

700 x 360 x (1630-1830)

700 x 360 x (1910-2110)

B
as

ke
t

B
as

ke
t

B
as

ke
t

B
as

ke
t

B
as

ke
t

B
as

ke
t

C

• DÖNER AYAKKABILIK MONTAJ ŞEMASI
• TURNING SHOE RACK MOUNTING INSTRUCTIONS

180°


